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T1 T2 T3 HR

15 17 20 0,85

ETP1 ETP2 ETP3

ML OL

4,2121349 5,0916996,5140262

Donde:

A B

n1 n2 n3

P: Precipitación 

CN CN

0,447537 0,5031784 0,585002

R: Escorrentía

45 66

E: Evapotranspiración

SML SOL

I: Infiltración

310,444444 130,848485

/Ñ:cambioenlavariación

en el almacenamiento

ETP= 1,21*10

ᶯ

*(1-0,01*HR)

+0,21 *T – 2,30 (mm)

I  =    P  -   ETR   -   R

Dónde: 

S= (25400/CN)-254

P= Precipitación

CN=



Número de

curva (tablas)

Q= Escorrentía 


image2.emf
AÑO

1962 1963

1977

PRECIPITACION PROMEDIO 122,5 87,75 87,83333333

ESCORRENTIA 9,840764931 1,95918399 1,971440585

EVAPOTRANSPIRACION 4,2121349 4,2121349 4,2121349

DELTA 108,4471002 81,57868111 81,64975785

ALMACENAMIENTO 108,4471 81,5786811 81,6497578

DEFICIT

RECARGA 108,4471 81,5786811 81,6497578

AÑO 1982 1983 1997 2005 2006 2007 2008 2009 2010 2011 2012

PRECIPITACION PROMEDIO 96,34166667 101,8583333 80,98333333 104,775 100,6916667 91,9 106,2833333 81,15 98,96666667 124,8 129,5666667

ESCORRENTIA 3,403719873 4,51612218 16,18280946 29,49955562 27,04149426 21,97832626 30,42344614 16,26676768 26,02267165 42,39144178 45,63987533

EVAPOTRANSPIRACION 5,091699 5,091699 6,5140262 6,5140262 6,5140262 6,5140262 6,5140262 6,5140262 6,5140262 6,5140262 6,5140262

DELTA 87,8462478 92,25051212 58,28649767 68,76141818 67,13614624 63,40764754 69,34586096 58,36920612 66,42996882 75,89453202 77,41276517

ALMACENAMIENTO 87,8462478 92,2505121 58,2864977 68,7614182 67,1361462 63,4076475 69,345861 58,3692061 66,4299688 75,894532 77,4127652

DEFICIT

RECARGA 87,8462478 92,2505121 58,2864977 68,7614182 67,1361462 63,4076475 69,345861 58,3692061 66,4299688 75,894532 77,4127652


